KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE



Operator: License # 32924	API No. 15 - 18
	County: Staffon
Name: Gilbert-Stewart Operating LLC Address: 1801 Broadway Suite 450	N 1/2 _SW _ NW_
City/State/7in: Deliver, 00 00202	1480'
NCDA CETT (MEAN	740"
Kent I Gilbert	Footages Calcu
Phone: (303) 534-1686	(circle
Phone: (303) 534-1686 Contractor: Name: Sterling Drilling	Lease Name:
License: 5142	Field Name: G
Wellsite Geologist: Kris Kennedy	Producing Form
Designate Type of Completion:	Elevation: Grou
✓ New Well Re-Entry Workover	Total Depth: 38
✓ Oil SWD SIOWTemp. Abd.	Amount of Surfa
Gas ENHR SIGW	Multiple Stage (
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show dep
If Workover/Re-entry: Old Well Info as follows:	If Alternate II co
Operator:	feet depth to 3
Well Name:	Drilling Fluid I
Original Comp. Date: Original Total Depth:	(Data must be col
Deepening Re-perf Conv. to Enhr./SWD	Chloride conter
Plug BackPlug Back Total Depth	Dewatering me
Commingled Docket No	Location of fluid
Dual Completion	LOCALION OF HUN

Docket No.

4/04-6/04 Completion Date or

Recompletion Date

3-01-04

Date Reached TD

Other (SWD or Enhr.?)

2-22-04

Spud Date or

Recompletion Date

API No. 15 - 185-23233-00-00							
County: Stafford							
N1/2_SW_NW Sec. 34 Twp. 21 S. R. 13 East West							
1480' feet from S / (N) circle one) Line of Section							
740" feet from E / (W)(circle one) Line of Section							
Footages Calculated from Nearest Outside Section Corner:							
(circle one) NE SE (NW) SW							
Lease Name: RLS Well #: #1							
Field Name: Gates							
Producing Formation: Arbuckle							
Elevation: Ground: 1884' Kelly Bushing: 1893'							
Total Depth: 3800' Plug Back Total Depth: 3781'							
Amount of Surface Pipe Set and Cemented at 312' Feet							
Multiple Stage Cementing Collar Used? ☐ Yes ☑ No							
If yes, show depth setFeet							
If Alternate II completion, cement circulated from 3800'							
feet depth to 3100' w/ 165 sacks sx cmt. ALT I WHM 7-11-06							
Drilling Fluid Management Plan							
(Data must be collected from the Reserve Pit)							
Chloride content 2-10,000 ppm Fluid volume 480 bbls							
Dewatering method used Hauled away							
Location of fluid disposal if hauled offsite:							
Operator Name: John J Darrah							
Lease Name: Anschutz SWD #2 License No.: 5088							
Quarter Sec. 15 Twp. 21 S. R. 14 East West							
County: Stafford Docket No.: 17893							

INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are completed statements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are completed statements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are completed statements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are completed statements.

KCC Office Use ONLY

Letter of Confidentiality Received

If Denied, Yes Date:

Wireline Log Received

Geologist Report Received

UIC Distribution



Operator Name: Gill	pert-Stewart Ope	rating LLC	<u> </u>	Lease	e Name:_	RLS		_ Well #: _#1		economical de la constante de
	21 S. R. 13		✓ West	Count	y: Staffo	rd				
INSTRUCTIONS: Statested, time tool operature, fluid received temperature, fluid received temperature.	n and closed, flowing covery, and flow rate	g and shut-i s if gas to s	n pressures, urface test, a	whether s long with	hut-in pre	ssure reached s	static level, hydro	static pressur	es, bottom	hole
Drill Stem Tests Take		✓ Ye	s No		Ør	og Formatio	on (Top), Depth a	nd Datum	□sa	ample
Samples Sent to Geological Survey			es 🗌 No			Name Topeka		Тор 2852'		atum 59
Cores Taken		Ye	s 🗸 No	Heel				3229'	-1336	
		✓ Ye	Yes No Lans		sing		3370'	-1	477	
List All E. Logs Run:					Arbu	ckie		3710'	-1	817
DIL,CNL/CDL	-									
		Report		RECORD	✓ Ne	w Used	ion, etc.			entre como a <mark>mendo estado como como los estados de esta</mark>
Purpose of String	Size Hole Drilled		Casing (In O.D.)		ight ./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	12 1/4"			24#		312'	70/30 Poz	235	3% CaCl	
Production	7 7/8"	5 1/2"		14#		3800'	Poz	165	4%Gel,	2%CaCl
	SC D	de principal de la constante d	ADDITIONAL	CEMENT	ING / SOI	JEEZE RECORD	ora-nazora anama			lendi, massimulunda kilabandagi singsalengal di saga permajan yang massa
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Туре	of Cement	T	s Used			ercent Additives		
Shots Per Foot) - Bridge Plug)		cture, Shot, Cemen		rd	mala alan spor spekaryinginina, engolomi sporagolomi Pari Sara Sara Sara Sara Sara Sara Sara S
			ach Interval Per	forated	700 FOR HORSE	(Amount and Kind of Material Used) Depth				
6	6 Perforate: 3711-14 6 Perforate: 3716-19					Acidize w/ 750 gallons, 7 1/2% MCA Acidize w/ 1200 gallons, 15% MCA				
										amilayean kangan sakat tarahiy kalayada ariya ka
TUBING RECORD	Size 2 7/8"	Set At 3740'		Packer	At	Liner Run]Yes ☑ No			
Date of First, Resumer April of 2004	d Production, SWD or E	inhr.	Producing Met		Flowing) V Pumpin	ıg 🔲 Gas Lif	t Oth	er (Explain)	
Estimated Production Per 24 Hours	0il 25	Bbis.	Gas O	Mcf	Waite 30	er Bi	ols. G	las-Oil Ratio	- noled thy who, to prime the edging when property companying	Gravity
Disposition of Gas	METHOD OF (OMPLETION		L		Production Interv	ral 37/1-19	7		PROPERTY OF A PR
Vented Sold	Used on Lease	travered from	Open Hole	✓ Per	f. 🔲 C	lually Comp.	Commingled _		one and the second contract of the second	Photographical shakkana ayaa egesperjare

RECEIVED

JUN 2 4 2004

KCC WICHITA



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. RO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

Bill to:		3154000	Invoic	e Invoic	e Date O	rder O	rder Dat
	Gilbert - Stewart Operating,	LLC	40302			905	3/2/04
	1801 Broadway, Suite 450			S	ervice Descrip	tion	
	Denver, CO 80202-3883		Cement				
	APR	1 3 2004		Lease		We	11
				RLS	, , ,	1 1	i,
AFI	E CustomerRep	Treater	Well 1		rchase Order	Ter	
	R. Stalcup	D. Scott	New Well			Net	30
ID.	Description	1 10110	UOM	Quantity	Unit Price	Pric	e
D204	50/50 POZ (COMMON)	11 -10	SK	115	\$6.84	\$786.60	
D203	60/40 POZ (COMMON)	4	SK.	50	\$7.84	\$392.00	` '
C194	CELLFLAKE	W = 212.	LB	2.5	\$2.00	\$50.00	` '
C310	CALCIUM CHLORIDE	13 - 3/31	LBS	196	\$0.75	\$147.00	
C195	FLA-322	5-4/11	LB	98	\$7.50	\$735.00	` '
C311	CAL SET) J	LBS	677	\$0.54	\$365.58	• •
C320	CEMENT GELL]	LB	196	\$0.25	\$49.00	(T)
C244	CEMENT FRICTION RED	UCER]	LB	42	\$4.50	\$189.00	(T)
C321	GILSONITE]	LB	215	\$0.60	\$129.00	(T)
C221	SALT (Fine)	(GAL	400	\$0.25	\$100.00	(T)
C302	MUD FLUSH	(GAL	500	\$0.75	\$375.00	(T)
F101	TURBOLIZER, 5 1/2"]	EA	7	\$71.00	\$497.00	(T)
F171	LATCH DOWN PLUG & F	BAFFLE, 5 1/2"	EA	1	\$250.00	\$250.00	(T)
F211	AUTO FILL FLOAT SHOE	E, 5 1/2"	EA	1	\$320.00	\$320.00	(T)
E101	CAR, PICKUP OR VAN M	ILEAGE - 1 WAY	MI	45	\$2.00	\$90.00	1
E107	CEMENT SERVICE CHAP	RGE :	SK	165	\$1.50	\$247.50	ì
E100	HEAVY VEHICLE MILEA	GE - 1 WAY	MI	45	\$3.25	\$146.25	
E104	PROPPANT / BULK DELI MILE, \$200 MIN	V SERVICES/TON	ТМ	317	\$1.30	\$412.10	1
R208	CASING CEMENT PUMP: 4 HRS ON LOC		EA	1	\$1,680.00	\$1,680.00	1
R701	CEMENT HEAD RENTAL	,	EA	1	\$250.00	\$250.00	•
R702	CASING SWIVEL RENTA	L	EA	1	\$125.00	\$125.00	
RECE	IVED				Sub Total:	\$7,336.03	- A STATE OF THE S
UN 24	2004				Discount:	\$2,113.49	
		_			Sub Total:	\$5,222.54	7/4
C WI	ICHITA	Stafford Coun	ity & State Tax	Rate: 6.30%	6 Taxes:	\$196.67	-

MENTING CO., INC.

KS 67665 483-3887 ن) 483-5566 AL TAX ID#

NVOICE

Invoice Number: 092495

Invoice Date: 02/28/04

Sold Gilbert-Stewart Operating LLC To:

1801 Broadway, ST #450

Denver, CO

80202

MAR 0 8 2004

Due Date.: 03/29/04 Terms. (..: Net 30

Cust I.D..... Gilla

P.O. Number..: R.L.s. #1

P.O. Date...: 02/28/04

Item I.D./Desc. Otv.	ITI				-
2.2.7 DODO: VCY.	Used	Unit	Price	Net	mv
Common Pozmix Gel Chloride Handling Mileage (12) 246 sks @\$.05 per sk Surface Mileage pmp trk Wood Plug	165.00 70.00 4.00 7.00 246.00 12.00 per mi 1.00 12.00 1.00	SKS SKS SKS SKS MILE JOB MILE	7.1500 3.8000 10.0000 30.0000 1.1500 12.3000 520.0000 3.5000	1179.75 266.00 40.00 210.00 282.90 147.60 520.00 42.00	$ar{ extbf{T}}$
All Prices Are Net, Pay. Date of Invoice. 1 1/2% If Account CURRENT take ONLY if paid within 30	vable 30 Days Following Charged Thereafter.	Tax. Paym	45.0000 cotal: : nents:	45.00 2733.25 122.72 0.00 2855.97	Ī

RECEIVED JUN 2 4 2004 KCC WICHITA V-10500 A-71730 W-33100 B-3/31